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(Above) Question 1 (a) and (b)




Question 1(C)i
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1= commandwindow

il= clear

2= clc

4 - close all

5= SYmE Y yout t vy

3 %t = 0:0.5:450;

7 %y = 50+450%=in(t)/0.025 - 1850%exp(-0.025%t);
== yvin = S50450*%*=in(t):

9 - yout = 0.025%y;

10 - Dy= 50450%sin(t)-0.025%y;

11 fegn = diffl == yin -yout;

12 %5 = dsolve (egn);

13 — int (Dyv)

14

nmand Winc

- y*2/80 + (50*%ain(t) + 50)*y
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Question 1 c (ii)
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4] Figure 1

- commandwindow

- clear
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t = 0:0.5:450;

- ¥ = 50+50*3in(t)/0.025 - 1850*exp(-0.025*T):
- plotit,y)

- xlabel ("Time (min) ')

- ylabel ('Amount of Salt')
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Question 2 a,b,c
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commandwindow
clear

cle

close all
syms t v yn tn

10:2:500]
v= 50/0.05+50/1.0025*%3in (t)+50% (0.05)/1.0025%cos (t) - 802.49%exp(-0.05%(t))
yn= 1000 - 800%exp(-0.05%(tn))

plot(t,y,'=',tn,vn, ')

xlabel ('Tims (min) ')

ylabel ('V(litzre)')
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clc !
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syms T
values = [] 1100
t = 1:1:500
mean = 1000-((exp(-0.05%T))*800) 1000
¥ = 1000+(50/1.0025) *sin(t)+(2.5/1.0025)*cos(t) - (exp (~0.05%t)) *802.48
900

if rem(t,2) = 0

values = [values,mean] i
else I

values = [values,y] @
end - £ 7m0
excelvalues=transpose (values) %
mins—transpose (t) g 600
plotit,values) >
grid on 500
grid minor
xlabel ('Time (minz) ') 400
ylabel ('Volume (litres) ')
xlswrite ('odevbesdata.xlsx',{'t(min)'}, 'veriliexr",'Al") 300
x1swrite('odevbesdata.xlsx',mins, 'verilier', 'R2")
Xlswrite ('odevbesdata.xlsx',{'V(litre)'}, "verilier','B1l") 200 L L L L L L L L L

x1swrite('odevbesdata.xlsx',excelvalues, 'verilier', 'B2")
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